MTH 452 HW7

Sunday, March 31, 2024

9:59 PM

$$\begin{array}{c} \rho.272 \pm 1 \\ \hline \\ \alpha - 1 = \sqrt{2} \\ \hline \\ \alpha - 1 = \sqrt{2} \\ \hline \\ (\alpha - 1)^2 = 2 \rightarrow \alpha^2 - 2\alpha + 1 = 2 \rightarrow \alpha^2 - 2\alpha - 1 = 0 \\ \hline \\ \Rightarrow f(x) = x^2 - 2x - 1 \in \mathbb{Q}[x] \\ \\ \pm 2 \\ \hline \\ \alpha^2 = (\sqrt{2} + \sqrt{3})^2 \\ = 2 + 2\sqrt{6} + 3 \\ \hline \\ \alpha^2 - 5 = 2\sqrt{6} \\ (\alpha^2 - 5)^2 = 4(6) = 24 \\ \hline \\ \alpha^4 - 10\alpha^2 + 25 = 24 \\ \hline \\ \Rightarrow f(x) = \alpha^4 - 10\alpha^2 + 1 \in \mathbb{Q}[x] \\ \hline \\ and f(\alpha) = 0 \\ \\ \pm 3 \\ \hline \\ \alpha^2 - 1 = i \\ \hline \\ (\alpha - 1)^2 = i^2 \\ \hline \\ \alpha^2 - 2\alpha + 1 = -1 \\ \hline \\ \alpha^2 - 2\alpha + 2 = 0 \\ \\ \end{array}$$

=>
$$f(x) = x^2 - 2x + 2 \in \mathbb{Q}[x]$$

 $f(\alpha) = 0$
#4| $x = \sqrt{1 + 3/2}$
 $x^2 = 1 + 3/2$
 $x^2 - 1 = 3/2$
 $(x^2 - 1)^3 = 2$
 $(x^2 - 1)^3 = (x^4 - 2x^2 + 1)(x^2 - 1)$
 $= x^6 - 2x^4 + x^2 - x^4 + 2x^2 - 1$
 $= x^6 - 3x^4 + 3x^2 - 3 \in \mathbb{Q}[x]$
 $f(x) = 0$
#5($x = \sqrt{3/2} - i$) $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)^3 = (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)(\sqrt{3/2} - i)$
 $= (\sqrt{3/2} - i)(\sqrt{3/2}$

Classify
$$\alpha \in \mathbb{C}$$
 as algebraic or transcendental over F .

10 $\alpha = 1+i$, $F = 1R$

algebraic Since $\alpha = 1+i$
 $\alpha^2 + 1 = 0$
 $\alpha^2 - 2\alpha + 1 = -1$
 $\alpha^2 - 2\alpha + 2 = 0$
 $\alpha = 0$

$$|x| = |x| = |x|$$

$$|x| = |x| = |x|$$

$$|x| = |x| = |x|$$

$$|x| = |x|$$

$$|x|$$

$$|x| = |x|$$

$$|x|$$

$$|x|$$